BT H[EREARGIKRAO]

L2846 A1 HIRE

1w 2 Z L 1w 2 z L
HTEEHF—THE 689 354 335 276 E—T B 1,123 561 562 470
HTEHF_TH 457 213 244 188l E=TH 1,416 721 695 546
HTEHF=TH 543 262 281 216|fAr =T B 662 328 334 254
HFEEFMT B 442 221 221 167\ EmT B 637 326 311 265
HTEHFATHE 513 254 259 226 R T B 1,102 554 548 427
HTEEFARTHE 1,054 512 542 21| ERTH 749 385 364 275
HTEHFELTHE 760 375 385 3| EtTH 728 369 359 265
HTEEF/NTE 774 387 387 10| AR E—TH 677 342 335 285
/N 331 179 152 13| AR EZTH 452 231 221 155
B 196 105 91 BIARTE=TH 733 353 380 298
IRETE 64 41 23 20| AR BT B 1,370 701 669 483
=% 847 412 435 286(|Frr E—TH 13 5 8 10
#®R 101 47 54 2| E=TH 765 400 365 356
ZF 418 198 220 144\ Frr E=T B 649 326 323 266
L3N 1,499 737 762 522|#EFT4 e T B 573 295 278 246
PNi=! 1,632 802 830 595 R R T B 965 469 496 396
MR 1,596 866 730 668|fARTE—TEB 738 356 382 322
KILFEH 142 63 79 S50|[fART&EZ=TH 685 334 351 291
AR 567 267 300 213|fARTE=TE 774 380 394 326
= 3 1,198 594 604 407|#ARTEET B 787 408 379 312
UOMLH—TH 938 507 431 369|ARTERTEB 987 495 492 343
UOMNLHZTH 2,023 1016 1,007 142|¥ARTERTB 692 344 348 261
UOMNLEH=TH 1,322 694 628 488[MARTETTH 1,145 563 582 410
UOHMLEETH 130 65 65 b4||IZEm&—TH 578 294 284 235
xE—TH 489 241 248 167|Xem&E=-TH 998 508 490 335
X¥E_-TH 462 240 222 162(|XKME=TH 608 309 299 228
E(=E=TH 546 286 260 212|XmEamT B 846 388 458 317
=EMTH 467 231 236 176|XmERTH 739 363 376 267
=ERTH 313 166 147 T1|ZRAEA<THE 507 263 244 218
hk—TH 1,058 531 527 407|XEMELTHE 698 361 337 279
L —TH 342 172 170 138[|& &t 65,840 33,157 32,683 25,823
hR=TH 478 243 235 225 FEREXRBERAD
hdpnT B 288 157 131 186 37 B H R
FAM 2411 1200 1211 918 A b 45 A
B&TE—TH 687 350 337 261 (5 6 A)
BAYEZTH 2,229 1112 1117 897 (& 39 A}
BAYE=TH 2,663 1,280 1273 1,041 HEH 61 fHE
[FoEe—TH 513 266 247 241 XEMUEDERERG. NEAEELERERAEON S
FRE&5=-TH 863 424 439 344
FOEE=TH 1,275 640 635 486 SBEHAEAAD
(FoEEMTHE 783 378 405 238 A b 718 A
FoEAARTH 587 292 295 259 (5 301 A, & 417 K]
TOEHEARTH 732 382 350 292




